
Nimi: 　　　　　　　 Päivämäärä: 　　　　　　 Pisteet: 　　　

Kerro kymmenen teholla (puuttuva luku)

5, 414 × ________ = 5414 9, 75 × ________ = 9750

8, 071 × ________ = 807.1 2, 947 × ________ = 294.7

6, 369 × ________ = 636.9 2, 023 × ________ = 2023

5, 439 × ________ = 543.9 2, 632 × ________ = 26.32

1, 96 × ________ = 1960 8, 989 × ________ = 8989

9, 269 × ________ = 9269 9, 031 × ________ = 90.31

7, 694 × ________ = 769.4 1, 393 × ________ = 1393

4, 377 × ________ = 43.77 2, 602 × ________ = 26.02

3, 369 × ________ = 3369 1, 847 × ________ = 18.47

3, 189 × ________ = 318.9 3, 013 × ________ = 30.13
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